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1. —

(A) + (B) + 

(C) + (D) + 

2. —

(A) (B)

(C) (D)

3. —

(A) (B)

(C) (D)

4. —

(A) (B)

(C) (D)

5. —

(A) (B)

(C) (D)

6. —

(A) (B)

(C) (D)

7. —

(A) (B)

(C) (D)

8.

(A) (B)

(C) (D)

9.

(A) (B)

(C) (D)

10.

(A) ADMISSION (B) COMPENSATION

(C) RECOMMENDATION (D) MANATE

11. Choose correct form of the verb—

If I .......... (be) a bird, I would fly in the sky.

(A) was (B) were

(C) will be (D) shall be

12. Change the sentence into Active Voice—

“The bicycle had been stolen.”

(A) Someone had stolen the bicycle.

(B) Someone had been stolen the bicycle.

(C) The bicycle had stolen by someone.

(D) None of the above.

13. Change into Indirect Speech—

Ram said, “Water boils at 100°C.

(A) Ram told that water boils at 100°C.

(B) Ram said that water boils at 100°C.

(C) Ram said that water is boil at 100°C.

(D) Ram told that wate is boiled at 100°C.

14. Fill in the blanks with appropriate modal.

When I read in class V, I .......... speak English

fluently.

(A) can (B) could

(C) should (D) must

15. Fill in the blanks with a verb in agreement with its

subject.

Ten miles .......... not a long distance.

(A) is (B) are

(C) am (D) none

2022-23

2 30 150 150

(Instruction) :

1.

2.

3.

4. (A), (B), (C), (D) 

5.
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16. Choose appropriate  Relative Pronoun.

Ram .......... son is a doctor is my friend.

(A) who (B) whom

(C) whose (D) which

17. Frame a question “I am going to Patna.”

(A) Where am I going?

(B) Where are you going to Patna?

(C) Where are you going?

(D) Where are you going to?

18. Make a question tag—

He never takes tea, .........?

(A) Does he (B) Doesn’t he

(C) Is he (D) Isn’t he

19. Choose appropriate word for the group of the

words—

A person who hates of mankind.

(A) Cynophobia (B) Introvert

(C) Hypocrite (D) Misanthrope

20. Fill in the blanks with appropriate conjunction.

.......... he is poor, he can purchase a car for him.

(A) While (B) But

(C) Yet (D) Although

21. 90 1 90 

(A)
9

10
(B)

1

9

(C)
89

90
(D)

90

90

22. 6, 8, 9, x 13 10 x 

—

(A) 12 (B) 18

(C) 14 (D) 15

23. 96cm3 

(A) 6 cm3 (B) 8 cm3

(C) 15 cm3 (D) 64 cm3

24. 3 39

(A) 5 (B) 8

(C) 13 (D) 9

25. 3,6,9,12,15,18,21.......... 31

(A) 92 (B) 66

(C) 99 (D) 93

26. 3 : 2 

10 cm 

(A) 30 20 (B) 20 30 

(C) 12 2 (D) 40 30 

27. 2 : 3 

5 : 3 

(A) 15 : 13 (B) 20 : 27

(C) 13 : 15 (D) 27 : 20

28. 44 

(A) 49 cm2 (B) 98 cm2

(C) 154 cm2 (D) 124 cm2

29.

(A) (B)

(C) (D)

30. 6 cm 

(A) 316 cm2 (B) 124 cm2

(C) 319 cm2 (D) 216 cm2

31. 2 

6 

(A) (B)

(C) (D)

32. 22, 2010 

22 

(A) (B)

(C) (D)

33.

—

(A) (B)

(C) (D)

34. KP, AZ, EV, HS ?

(A) MP (B) DY

(C) MN (D) DU

35. 45, 38, 34, 33 ?

(A) 30 (B) 32

(C) 29 (D) 35

36.

(A) (B)

(C) (D)

37.

(A) (B)

(C) (D)
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38. 4 9

6

16 9

12

16

20

(A) 60 (B) 50

(C) 25 (D) 21

39. —

(A) 12 (B) 15

(C) 16 (D) 18

40.

I II : 

(A) I (B) II 

(C) I II (D) I II

41.

(A) 1689 (B) 1789

(C) 1889 (D) 1911

42.

(A) (B)

(C) (D)

43. 9 1945 

(A) (B)

(C) (D)

44.

(A) 24 1945 (B) 26 1945

(C) 14 1945 (D) 24 1945

45.

(A) (B)

(C) (D)

46.

(A) 9 2022 (B) 19 2022

(C) 5 2022 (D) 1 2022

47. 16

(A) (B)

(C) (D)

48. 2022 

(A) 29 2022 (B) 5 

(C) 9 (D) 30 

49. 2022 

(A) (B)

(C) (D)

50. 11 2022 

—

(A)

(B)

(C)

(D)

51.

(A) (B)

(C) (D)

52. 2022 

(A) (B)

(C) (D)

53. (Twitter) 

(CEO) 

(A) (B)

(C) (D)

54. 2022 

(A) (B)

(C) (D)

55. (DRDO) 

(A) (B)

(C) (D)

56.

—

(A) (B)

(C) (D)

57.

(A) 9 1948 (B) 9 1946

(C) 20 1947 (D) 8 1946

58.

(A) (B)

(C) (D)

59.

(A) -4 (B) -4 

(C) -5 (D) -3
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60.

(A) (B)

(C) (D)

61. —

(I)

(II)

(III)

(IV)

(A) I, II III (B) I II

(C) I, II IV (D) I, III IV

62. —

(A)

(B)

(C)

(D)

63. —

(A) (B)

(C) (D)

64.

(A) 72 (B) 73

(C) 74 (D) 76

65.

(A) 104 (B) 103

(C) 102 (D) 101

66.

(A) – (B) – 

(C) – (D) –

67. —

(A)

(B)

(C)

(D)

68.

(A)

(B)

(C) 23

(D)

69.

(A)

(B)

(C)

(D)

70. 1857 

—

(A) – 

(B) – 

(C) – 

(D) – 

71. 1857 

(A) (B)

(C) (D)

72.

—

(A) – 

(B) – 

(C) – 

(D) – 

73.

(A) (B)

(C) (D)

74. —

(A)

(B)

(C)

(D) 1930 

75.

—

(A) – 

(B) – 

(C) – 

(D) – 

76.

(A) 3214 kms. (B) 2933 kms.

(C) 3287263 kms. (D) 7517 kms.

77. —

(A) (B)

(C) (D)

78.

(A)

(B)

(C)

(D)

79. 2001-2011 

(A) 21.3% (B) 17.7%

(C) 24.9% (D) 13.5%
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80. —

(A) (B)

(C) (D)

81. —

(A) – 

(B) – 

(C) – 

(D) – 

82.

(A) 1972 (B) 1973

(C) 1992 (D) 1953

83.

(A) 1948 (B) 1946

(C) 1953 (D) 1956

84. —

(A) – 

(B) –

(C) –

(D)

85.

(A) (B)

(C) (D)

86. —

(A) (SBI)

(B) ICICI 

(C)

(D)

87.

(A) (B)

(C) (D)

88. (GDP) 

(A) (B)

(C) (D)

89.

.............. 

(A) (B)

(C) (D)

90.

(A) (B)

(C) (D)

91.

(A) (B)

(C) (D)

92.

(A) (B)

(C) (D)

93.

(A) (B)

(C) (D)

94.

(A) (B)

(C) (D)

95.

(A) (B)

(C) (D)

96.

(A) (B)

(C) (D)

97.

(A) (B)

(C) (D)

98. —

(A) (B)

(C) (D)

99.

(A) (B)

(C) (D)

100.

(A) –

(B) – 

(C) –

(D) –

101.

(A) (B)

(C) (D)

102.

(A) (B)

(C) (D)

103.

(A) – (B) –

(C) – (D) – 

104.

(A) (B)

(C) (D)

105. —

(A)

(B)

(C)

(D)
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106.

(A) (B)

(C) (D)

107. —

(A) (B)

(C) (D)

108.

(A) (B)

(C) (D)

109.

(A) (B)

(C) (D)

110.

(A) (B)

(C) (D)

111.

(A) (B)

(C) (D)

112.

(A) (B)

(C) (D)

113.

(A) (B)

(C) (D)

114. —

(A) (B)

(C) (D)

115.

(A) (B)

(C) (D)

116.

(A) (B)

(C) (D)

117.

(A) (B)

(C) (D)

118. —

(A) (B)

(C) (D)

119.

(A) (B)

(C) (D)

120.

(A) 1722 (B) 869 

(C) 1080 (D) 1597 

121.

(A) (B)

(C) (D)

122.

(A) (B)

(C) (D)

123.

(A) 15-08-1950 (B) 26-01-1950

(C) 01-11-1950 (D) 01-11-1956

124.

(A) (B)

(C) (D)

125.

(A) (B)

(C) (D)

126. —

(A) (B)

(C) (D)

127.

(A)

(B)

(C)

(D)

128.

(A) (B)

(C) (D)

129. —

(A) (B)

(C) (D)

130.

(A) (B)

(C) (D)

131.

(A) (B)

(C) (D)

132. 1936

(A) (B)

(C) (D)
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133.

(A) 1920 (B) 1921 

(C) 1922 (D) 1925 

134.

(A) (B)

(C) (D)

135. 1857 

(A) (B)

(C) (D)

136.

(A) – 

(B) – 

(C) –

(D) – 

137.

(A) (B)

(C) (D)

138. —

(A) (B)

(C) (D)

139.

(A) (B)

(C) (D)

140.

(A) – (B) – 

(C) – (D)  – 

141.

(A) (B)

(C) (D)

142.

(A) (B)

(C) (D)

143.

(A)

(B)

(C)

(D)

144.

(A) (B)

(C) (D)

145.100W - 220V 

(A) 900 (B) 484 

(C) 220 (D) 100 

146.

(A) PARAM (B) IBM4300

(C) CRAY (D) CDAC

147.

(A) (B)

(C) (D)

148.

(A) (B)

(C) (D)

149.OTP —

(A) ON TIME PASSWORD

(B) ONE TIME PAYMENT

(C) ONE TIME PASSWORD

(D) ONE TASK PROGRAM

150. © 

(A) Ctrl + c (B) Ctrl + Alt + o

(C) Ctrl + Alt + c (D) Ctrl + Shift + Alt
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